



St. Louis County, Minnesota

Date of Report: 12/14/2025 12:08:16 PM

**General Details** 

 Parcel ID:
 679-0011-00445

 Document:
 Abstract - 897/3904

Document Date: -

**Legal Description Details** 

Plat Name: UNORGANIZED 59-16

Section Township Range Lot Block

6 59 16 -

**Description:**ASSUMING E LINE OF LOT 5 TO LIE N 9 DEG 46 MIN 15 SEC E AND BEG AT SE COR THENCE N 37 DEG 58
MIN 51 SEC W 1223.40 FT TO HWY R/W THENCE S 53 DEG 7 MIN 42 SEC W ALONG R/W 751.77 FT TO W LINE

OF LOT THENCE S ALONG W LINE 431.64 FEET TO SW CORNER THENCE S 86 DEG 28 MIN 6 SEC E ALONG

S LINE 1432.54 FT TO PT OF BEG

**Taxpayer Details** 

Taxpayer Name JACKA DAVID WILFORD

and Address: 7098 HWY 169 VIRGINIA MN 55792

**Owner Details** 

Owner Name JACKA WILFORD ETUX

Payable 2025 Tax Summary

2025 - Net Tax \$625.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$710.00

#### **Current Tax Due (as of 12/13/2025)**

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$355.00	2025 - 2nd Half Tax	\$355.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$355.00	2025 - 2nd Half Tax Paid	\$355.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

#### **Parcel Details**

Property Address: 7098 HWY 169, VIRGINIA MN

School District: 2909
Tax Increment District: Property/Homesteader: -

Assessment Details (20	025 Payable 2020	3)
------------------------	------------------	----

Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
204	0 - Non Homestead	\$34,500	\$26,200	\$60,700	\$0	\$0	-
	Total:	\$34,500	\$26,200	\$60,700	\$0	\$0	607





St. Louis County, Minnesota

Date of Report: 12/14/2025 12:08:16 PM

**Land Details** 

Deeded Acres: 17.81 Waterfront: Water Front Feet: 0.00

D - DUG WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

	limensions shown are no //apps.stlouiscountymn.					e found at ions, please email PropertyT	ax@stlouiscountymn.gov.		
			Improveme	nt 1 Deta	ails (MOBILE H	OM)			
In	nprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
M	MANUFACTURED HOME	1968	1,38	86	1,386	-	SGL - SGL WIDE		
	Segment	Story	Width	Length	n Area	Foundat	tion		
	BAS	0	16	66	1,056	POST ON G	ROUND		
	BAS	1	10	33	330	POST ON G	ROUND		
	CW	0	8	12	96	POST ON G	ROUND		
	DK	1	8	10	80	POST ON G	ROUND		
	DK	1	10	10	100	POST ON G	ROUND		
	OP	0	8	10	80	POST ON G	ROUND		
	Bath Count	Bedroom Co	unt	Room	Count	Fireplace Count	HVAC		
	1 BATH	2 BEDROOM	MS	-		-	CENTRAL, FUEL OIL		
	Improvement 2 Details (GARAGE)								
In	nprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
	040405	4074	4.0	40	4.040		DETAGUED		

Improvement 2 Details (GARAGE)									
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.			
GARAGE	1971	1,84	40	1,840	-	DETACHED			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	24	30	720	FLOATING	SLAB			
BAS	1	28	40	1,120	FLOATING	SLAB			

BAS	1	24	30	720	FLOATING SLAB		
BAS	1	28	40	1,120	FLOATING	SLAB	
		Improveme	nt 3 Deta	ils (MOBILE H	OM)		
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des	c.
MANUFACTURED HOME	1973	658	3	658	-	SGL - SGL WIDE	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	0	14	47	658	POST ON GR	ROUND	
Bath Count	Bedroom Co	ount	Room C	Count	Fireplace Count	HVAC	
1 BATH	3 BEDROO	MS	-		-	NONE,	
		Improvem	ent 4 De	tails (STORAG	GE)		
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des	c.
STORAGE BUILDING	0	544	4	544	<del>-</del>	_	

	Improvement 4 Details (STORAGE)									
Improvement Type		Year Built	Year Built Main Floor Ft <sup>2</sup> G		Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc			
STC	RAGE BUILDING	0	54	4	544	-	-			
	Segment	Story	Width	Length	Area	Foundation				
	BAS	1	16	34	544	POST ON GROUND				





St. Louis County, Minnesota

Date of Report: 12/14/2025 12:08:16 PM

		Improver	ment 5 Det	ails (NV SH	FD)			
Improvement Type	e Year Built	-		Gross Area Ft <sup>2</sup>	-	ement Finish	Style C	ode & Desc.
STORAGE BUILDIN		49		49	Dus	-	Otyle O	
Segmen				Area		Found	ation	
BAS	1	7	<b>20.19</b>	49		POST ON (		
27.10	·							
		-		tails (FAB C	PT)			
Improvement Type				Gross Area Ft <sup>2</sup>	<sup>2</sup> Bas	ement Finish	Style C	ode & Desc.
CAR PORT	0	24		240		<del>-</del>		-
Segme	•	Width				Found		
BAS	1	12	20	240		POST ON (	GROUND	
		Improve	ment 7 Det	ails (FAB C	PT)			
Improvement Type	e Year Built	Main Flo	oor Ft <sup>2</sup> (	Gross Area Ft <sup>2</sup>	<sup>2</sup> Bas	ement Finish	Style C	ode & Desc.
CAR PORT	0	24	0	240		-		-
Segme	nt Story	Width	Length	Area		Found	ation	
BAS	1	12	20	240		POST ON (	GROUND	
		Improven	nent 8 Deta	ails (STORA	GE)			
Improvement Typ	e Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<sup>2</sup> Bas	ement Finish	Style C	ode & Desc.
STORAGE BUILDIN	IG 0	35	2	352		-		-
Segme	nt Story	Width	Length	Area		Found	ation	
BAS	1	16	22	352		POST ON (	GROUND	
		Improve	ement 9 De	etails (Log S	ST)			
Improvement Type	e Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Bas	ement Finish	Style C	ode & Desc.
STORAGE BUILDIN	IG 0	40	)	40		-		-
Segme	nt Story	Width	Length	Area		Foundation		
BAS	1	5	8	40		POST ON	GROUND	
	S	ales Reported	to the St.	Louis Coun	tv Audito	r		
No Sales informa					.,			
	<u>'</u>	Δ.	22222222	t Lliotom				
	Class	A	ssessment	пізіогу		D-f	Def	
V	Class Code	Land	Bld		Total	Def Land	Def Bldg	Net Tax
Year	(Legend)	EMV	EM\		EMV	EMV	EMV	Capacity
2024 Payable 2025	204	\$33,100	\$25,0		\$58,100	\$0	\$0	-
,	Total	\$33,100	\$25,0	900	558,100	\$0	\$0	581.00
2022 Payable 2024	204	\$31,800	\$23,9	00 \$	\$55,700	\$0	\$0	-
2023 Payable 2024	Total	\$31,800	\$23,9	900	55,700	\$0	\$0	557.00
	204	\$30,500	\$22,2	200 \$	\$52,700	\$0	\$0	-
2022 Payable 2023	Total	\$30,500	\$22,2	900	52,700	\$0	\$0	527.00
	204	\$29,400	\$28,8	300 \$	58,200	\$0	\$0	-
2021 Payable 2022	Total	\$29,400	\$28,8		558,200	\$0	\$0	582.00

3 of 4





St. Louis County, Minnesota

Date of Report: 12/14/2025 12:08:16 PM

	Tax Detail History									
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV				
2024	\$601.00	\$85.00	\$686.00	\$31,800	\$23,900	\$55,700				
2023	\$601.00	\$85.00	\$686.00	\$30,500	\$22,200	\$52,700				
2022	\$735.00	\$85.00	\$820.00	\$29,400	\$28,800	\$58,200				

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.